Warm Up January 28, 2019

Simplify each expression using the correct order of operations:
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4.) It costs Raquel $5 in tolls to drive to work and back each day, plus

she useq3)gallons of gas. It costs her a total of $15.50 to drive to work
and bacK®each day. How much per gallon is Raquel paying for her gas?
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SOLVE EACH OF THE EQUATIONS BELOW FOR X:
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. QUICK-WRITE: What are some similarities and differences
2 between the two equations?

Both equations are solved using addition

and division. The left equation has

numbers while the right has letters.




Solve each equation for the specified variable.
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* Think backwards PEMDAS
=  Remove fractions by multiplying by the reciprocal.
= laststep is USUALLY to divide by whatever is next to your variable.

Hints to help:
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